o )

TRUCK & TRAILER PARTS

Section 7

Miscellaneous consumables 7.1-1.2

(Separate SDC Truck & Trailer Parts catalogue avlaiable on request)

(Any reference number or Picture are for cross reference purpose only and this does not indicate the manufacturer of the Parts that SDC Trailers Ltd Supply)



PART NO.

FAB0505
FAB0501

FAB0502
FAB0520
FAB0504
FAW0108
FANO0501

FAB0601
FAB0602
FAS0104
FAB0603
FAB06030
FAW0109
FANO0601

FAB0814
FAB0803
FAS0207

FAB0804
FAB0805
FAB0820
FAB0821
FAB08068
FAB0806
FAS0206
FAB0807
FAB08075
FAB08074
FAB0808
FAB0810
FAB0811
FAB0801
FAB0802
FAW0120
FAN0802
FAN0801

FAS0106
FAB1001
FAB1012
FAB1002
FAB0301

FAB1003
FAB1013
FAB1005
FAB1007
FAB1009
FAW0106
FAN1002
FAN1004
FAN1001

Consumables

DESCRIPTION

M5X16 Sets 8.8

M5X25 Sets 8.8

M5X30 Sets 8.8

M5X30 CSK SLTD M/C Screw
M5X50 Sets 8.8

M5 Washer form A

M5 Nyloc nut

M6X20 Sets 8.8

M6X25 Sets 8.8

M6X40 CSK Speed wood screw
M6X45 Cups Square

M6X45 set 8.8

M6 Washer form A BZP

M6 Nyloc Nut

M8X16 Sets 8.8
M8X20 Sets 8.8
M8X20 Hex HD Taptite

M8X25 Sets 8.8

M8X25 Sets 10.9

M8X25 CSK M/C Screw

M8X25 Cup Square

M8X30 Cup Square Hex
M8X30 8.8

M8X30 Hex HD Taptite

M8X40 HT Hex Screws BZP
M8X45 Cup Square Small Head
M8X50 Socket Button Head
M8X60 Sets 8.8

M8X70 Bolt 8.8

M8X80 Bolt 8.8

M8X100 Bolt 8.8

M8X100 Cup Square Wood Bolt
M8 Washer Form A BZP

M8 Tee Nut

M8 Nyloc Nut

NO 10X3/4 Pan Steel Wood Screw
M10X25 Sets 8.8

M10X25 SOC. Button Zinc Plated
M10X30 Sets 8.8

M10X30 Roofing Bolt

M10X40 Set 8.8

M10X40 Cup Square Hex
M10X50 Sets 8.8
M10X70 Bolt

M10X90 Bolt 8.8

M10 Washer Form A BZP
M10 Wing nut

M10 Hex nut

M10 Nyloc nut

PART NO. DESCRIPTION
FAB1221 M12x30 Socket Button 10.9
FAB1206 M12X35 Set 10.9 (1.25) Fine Thread
FAB1222 M12X35 Socket Cap Hex Thread
FAB1207 M12X40 Set 8.8
FAB1217 M12X50 Socket Cap
FAB1210 M12X60 Bolt 8.8
FAB1212 M12X70 Set 8.8
FAB1219 M12X80 HT Bolt
FAB1213 M12X90 Bolt 8.8
FAB1201 M12X100 Bolt 8.8
FAB1218 M12X120 HT Bolt Zinc
FAB1203 M12X150 Bolt 8.8
FAW0107 M12 Washer Form A BZP
FAN1202 M12 (Fine 1.25) Nyloc nut - 10.9
FAN1201 M12 Nyloc nut
FAB1402 M14X40 Set 8.8
FAWO0119 M14 Washer form A BZP
FAN1401 M14 Nyloc Nut
FAB1603 M16X40 Sets 8.8
FAB16031 M16X40 Bolt Grade 10.9 1.5 Thread
FAB16032 M16X1.5X40 Button head BZP PT18600
FAB16012 M16X60 HT Set
FAB16022 M16X70 HT Hex Set BZP
FAWO0114 M16 Form A Washer BZP
FAW0113 No. 16 Screw cup brass washer - Type R
FAW0123 M16 Spring Washer
FAN16011 M16 Fine Nyloc Nut 1.5 Din 985 10.9

Grade
FAN1601 M16 Nyloc Nut
FAB2001 M20X100 Hex Head Bolt
FAWO0121 M20 Washer Form A BZP
FAN2001 M20 Nyloc Nut
FAB2401 M24X100 HT Bolts Zinc
FAB240123 M24X120 Bolt
FAWO0115 M24 Form A Washer BZP
FAN2401 M24 Nyloc Nut
FARO0101 3/16 X 3/4 Alum AVEX Rivet - A1661-0621
FAMO0104 1/4 Steel Short Monobolt A2771-0817
FAMO0103 1/4 Steel Long Monobolt A2771-0824
FAA0105 Avtainer PIN A2311-1218
FAA0106 Avtainer Pin A2311-1220
FAA0107 Avtainer Pin A2311-1215
FAC0202 Avtainer Shells/Collar A2321-1200
FAH0116 1/4 Steel Hemlock A2221-0815
FAMO0130 1/4 Truss Head Steel Maxlok A1903-0801
FAC0102 1/4 Steel Maxlok Collar A1987-0800
FAR0107 3/16 X 1" LG FL AVEX Rivet A1661-0631
FAR0108 3/16 X 5/8 LG FL AVEX Rivet A1641-0621
FAR0102 3/16 X 1" LG Flange Rivet A1641-0631

_SD. )

TRUCK & TRAILER PARTS

TP7018
Scania 4 series 164 fuel filter PU941X



Consumables

ADH0302
Honey tape, double
sided 10m roll

ADH0303
White tape, double
side tape 3 x 25 x 2.

ADH02049
Sika sausage
257FC — 600cc

ADHO0205
Sika sausage 212FC-410cc

2220112
Handheld gun to suit Sika 410cc
sausage

222201121
Hand held gun to suit Skia 6!
sausage




NOTES:

i)

TRUCK & TRAILER PARTS



	Page 7,0 contets
	Page 7,1
	Page 7,2
	Page 7,3 notes

